

















Algebraic Proof 2


























Zn th tant In In

In En th In In 2n 1

Inti 2n c

anti tan anti an

An an 45 I an On

a multiple of 8

Intl Zn 1
2 10

45 1 on 45 1 an 10

In t I an am I 4h 10

8h 10

8h 8 2

8 n n 2 not a multiple of 8



t n'thtentz Ere En

In In t l In In htt

25m I ion 255th ion

255 1 ion 25h I ion

20h
5 an a multiple of 5

Same as Q 10

20h

4 5n a multiple of 4

An't tan anti an Z



In I tan 45 I 4h 2

8h 2

4 2n 2 not a multiple of 4

n I 2n n 1 2n 4

n I 2n N I 2n 4

4h 4

2 2ntz which is even



Let two consecutive even numbers be

2n and 2n 2



Zn ante

In t an't 4 ton

85 8h 4

4 2n 2n 1 a multiple off

Let numbers be n and ntl

n htt

N t n I 2n

2n t 2h I

2 n't n I

2n htc I

Either n or ntl is even and so has a factor
of 2 Therefore 2 x n nti has a factor of 4

The first term is therefore a multiple of

4 and I is the remainder



Let consecutive odd numbers be Intl 2nt3

2 3 anti

45 9 12h anti an

45 9 12 45 I 4h

8h 8

8 n ti a multiple of 8

Numbers 2n 24 2 2nt4

a 2nd ante

an t 45 4 84 45 16 169

2n 24m 20

4 31 64 5 a multiple of 4


